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gt ST oty A

f D e B A Questions | =i |
st + /b2 + dac - b ;htrw.lrhi = 4ac A :‘_aﬂf;ﬁﬁ..m; 1
_:‘ = :"”E : The quadratic formula is:
cobifledac | _bayb?—dac |
T W . S LN |
i 5 A . el afi FQHJM£ Tt-nsd=0am-B.ofi| 2
| B | ) T | 1f 2, B are roots of cquation Tx? —x +4 =0
1 then af} s
i ! _
I 3 -1 1 i .i;..r_wf E".,-abl-g'ljﬂ 3
ll = 7/ i, Sum of cube roots of unity is: ] '
'1‘ .:..-f Hlﬁﬁﬂ‘ ﬂrl.;'t'( i.}l'IT %_an alah =_,:-! d
| Rasis Consoquent | Aniccedent Relation  |Ina ratio a: b, a is called: e ‘ _
12 1 4 X o L x5 156 § |
i 3 4 Fmdxin'pmpurﬁmﬂ'x”ﬁ"liz
. x4+l
jo A , B |Ax+B € A . B |, A Bxig] *Wd“'sﬁr;' izl (x+1Hx—T1) .
E+] 1| =#1 "=x=1| x+1 xz=1 |  x+1 x-=1 } 1
7 Partial ﬁmmsdm are of the form:
—-"-“; = =tef o ,%w&,-fmﬂgu 7
Empty se1 et _ Power st fiub 521 A collection of well defined objects is called:
U " - i e e ANB I ACE fi| g
SO If AcB then AMNB is equal to:
F 'T WL ¥ aF E ! i .
el I 8 I A A | el | o
Histogram o Sstribution Data A prouped fmqumsjimhit is ::a!led;
~t # s ias —e-biiie. LA} bl 10
Proportion Origin Hatio Valse Mean is affected by change in:
I-tan? B 14 cos? @ 1+tan® @ I-sin® @ sec’ B= 1
£ iy de e | the B derl? = = s
ﬁﬂrhﬁ sl mﬂjﬁ“ the e WAVl gLl 12
chord || Al unequal ¢ pichicd Allequal | Radii of a circle are:
I : 5 b | ¥ e
e # e | vaw b gL | 1
.. Diameter Chord Secant Acirclehasonlyone:
: : WMl 2 - bl ¥ 60° {g";’! !.hﬂlUr" 4.0 14 |
4 2 : = T
' A dem long chord subtands acentral ¥ -
: angle of 60° the radial segment of this circle is: k
'IE'"‘H oy _.iL;l . B 2
e mf s a | PR AT
» undary Segment Chard The circumference of circle is called:
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 Part-1

Write short answers to any SI1X parts.
Wrrite the equation in standard form: : +; -%Hﬂﬂ

Salvethe equation: % 42x=2=0

JIi+IB =x

Solve;
Evalusts; (1= 30— 30"}

ffemiat sime+n)aen=F=0

Find w? if: _ »

IFy & and ¥=4 when X =3 find * when ¥ =24
Find thie third proportional of; 13:::2 P1 F'Fq‘iq
Find the fourth proporional of: - 4x* , 257 14 e

Wrile short answers 1o any 51X [_:hm; 1 pr

Wht is proper fraction? i : SN

' =2
How can we make panial fractions af m 5

HX={1,47.9 ,Y={24,5 9} then find YUX

Define a function.

e KN U o 2= 2,3,5,7,10,13,17,19,23) o ¥ = (0,2, 4,6, (20} « X = {1,3,5,7,...

".x - {lejz ﬁl‘ 1- ERia ug’j B ‘i' - {ﬂ- 2i d"i ﬁ. LR
Write all the subsets of fa, b} .

Find arithmetic mean: 200, 225, 350, 375, 270, 320, 200
Define a frequency distribution.

Drefine mode.

Write short answers fo any SIX parts,
Diefine ratio and give one examiple,

Find a third proporticnal to 28 and 4,

Diefine an angle.

=%

Conver] = B deprecs.

Find r when f = 56em and = 45 4
Cethle )

‘:ig ":—;‘5*4 =0 Emﬂ;bﬁfahw

é‘fﬁf;ﬁﬂﬁbﬂhrf i?p"!ilﬂ,.&gr;'; ;.P!r::u it F s

Without salving find the sum and product of the roots of quadratic eguation:

Y=24 Gakupe % By x=3 Lt ¥l yat i

e UK Beveqz,4,59X={1,4,7,9 f

200, 225, 350, 375, 270, 320, 200 :&E A lLe

el imge §f 2
]
)ladn=2=0 25zl
T I R
(1-3a-30'f ZEelod

i)
(il
(v}

¥
E}Mm]xi FimF+ajr+n—~F =0

"“ E:—Hfﬂ Aglopor (i)

{vii}
o’ —q’
Py’

p; ~pq *"il g ()
ot 20, 18 kB ()
P g dF 3

'i‘%&ﬂv}f;% 0

Al A0S e W
(i)
{i¥)
v)

EAlN
19

. 20} and £ = {2,3,5,7, 11, 13, 17, 19, 23} then find XN(Y UZ),

e GH0L m by iy

{wii}
LS il
=£us&ﬁ5;;h (i)

ggﬁhﬂﬂyﬂﬁplzlf&:ﬂ’ =4
-Eefg pAled @)
LA W G
AL i

Ldasel W

el 0 Ly tastem



d-sinl@l+un’@=1 Lok O

(1-sin26)1 + tan 8) = |
=£Lﬂ § al M D¢ _ira =67.38°  (yii)

k T =t 4?.53& Villlfﬂ Bﬁ.p Lq! ‘lﬂ’ S. ﬁlm‘i-
mLA =607 g mAC =4dem « mAB =5cm .ﬁéf;““‘ mﬁuﬁMH’ﬂ {wiii]
mA = 607

Ina AABC  caleulate mﬁ_ﬁ when mﬁ_ﬁ- = Scinie mﬁ =dgm and

[Divide an arc of any length into two equal parts.

Wy d NI iadlu” @

w19 A upA 08 L L felr L ctirtedf s

Part - I, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Ix+5=+ Tx+16 s 452y Tx+16 E Szl ()
_usakp :ﬂmﬁuu}% I:’s,':é-I!’Lﬁ;U.ﬁg)%Ag x2—3x +6=0=bl-P « )

form equation whose roois are mi,ﬁfi*

M Solve the equation:

Ifa. p are the roots of the equation 2,2 _3x + 6=0-
g - —_— : 3 - = . R :
i ALK 4 e St ()

= av. x+3

Using theorem of eomponendo dividendao, gt Ll =5
2 7 2 a7 j : :
O A . x=3+] x*-3x+1 LW e (o)
Resolve into partial fractions: = — =S r"ff T

|y eFXy <10} L={x|xeNax I )

R={xyly=x :zhkiyM=LIM=W
If Lé{ﬂmﬁ Nax<5l M={ylyePay<I0}, then make thesrelation from L to M
R={(xy)ly=x
4 Find the standard deviation of the data: 9,3,8,8,9,8,9,18 :é}#‘_ﬁ{ﬁ@gwﬁw ()
(tan §+ cot B)(cos @ +sin B) = sec @i+ cosech g:; =zt () _8

kil 45 it ()

Verify:
Draw circle which touches both the arms of angle 457 .

L unbeiigioe St L mfifE et 9
Prove that if two chords of a circle are congruent then they will be equidistant from the center.
~OR - Sy |
-t male Jﬁw’ Wumle Y ] l:hu ;:LSI fé@-ﬂ:
Prove that two tangents drawn to a circle from a point outside it, are equal in length.
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=y A - ~ e Bl U Al eV S 0| 1
Bowndsry |  Chord Segment Sector | A portion of & circle between two radii and an arc is called: | !

, ;,,mﬁ.,:m&rﬂmm - 40 SR 2 '|

& " 40 L An are subtends a central angle ETW ihen comesponding |

: chord will subtend & central angle of:

Fr e e g | = ufi}_ m_fl 3

Ce Dizmeter A cirgle has only one:
Lol LELWH&U!LJI&.EJ;{&!FJ 4

chord passing through the center of a circle is called: |
: —

sect =

.irig-fumfﬁﬁ‘ 6

A daea I the form afa fquuth' distribution is called:

..a-_,rﬂfLE iﬂpﬂ&fﬁ.ﬁggf 7

|Power sevofan emply seliss

e br L DG 9 l
b, Point (=1, 4} liesin the qussdrni: =l
{ = =L .;,ﬂglpr-.,é'j iz.-i':ll.r’JﬂJ - E-E'“(K‘i'l}i =5 +6x+9 1o
Fraction Anidentity | An equation cquation | I® +3P =n? +6x+9
1
= 3 4 75 e UL B T EL EI - I
4 : 4 Find the value of x in proportiond :x::5: 15
T B P & : e byl xiyasd| 12
M Consequen Antecedent Relsiion  |Inaratiox:y, yis called: .t
\,.f.mf gﬂ' .ﬂllﬂwﬁ& 11 =x=1=0.=1li= ﬂ . ﬁ‘ 13
| 4 2 =1 ire, B oare the roots of 32 —x — = then product ‘e tr J
‘ 1 of the roots of 2o and 2P js; 2
L}E}f F Jrd ﬁ.&ﬁy&uﬁ anl s +o=0ahl-dn b —dac <0 14
S Real Irrational IT b? - 4az < 0, then the roots of the equation
B i ax? + by +c =0 are:
i 3 7 i LEE,}&LIM&‘!M}:H 15
i The number of methods 1o solve & quadratic equation is:
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( Part-1 Jj 4das )

Write short answers to any 51X parts, gﬁn@}lgfﬂﬁpmqéjf
Wirite the quadralic equalion in standnrd Torm: i—:‘% - [’;; b =0 fbﬂlﬁj ;-afh.lﬂ-s {i)

Solve by factorization: Sad = )8y

Diefline reciprocal equation,

Swleisn e Gi)
-y Mamaf iy
x-Sk +3mi ﬁrﬁi’ﬁ;ﬂﬁfﬂsimﬁuﬁiﬂk@m {iv)

Find the sum and the predust of the roots of the quadratic equation: g - Sy 43mp

Evaluste:  (1=w+n?)®

{1 - m+wt)® é}’)"“:&f (vl

Discuss the nature of the roots of the equation: x° +6x-1=0 xlebn-lmi Egéf{rﬂlﬁb%}d;w {wi)

Find the value of p, if the ratios 2p + 5% Bpf dand 3: 4 are cqual.

Wy and V=5 when Re=3, find B when ¥ = =625

=ulrgle 3:d ol Ip+ 5 3p + ﬁﬁgfﬁ’&édip {wid)

weﬁzjjé,pﬁ;,,ﬂ J oz V=5 sivaerd A

{wiii)

Find the fourth proportional of: #8% | 247 | 18x? S | - )
Write short answers to any SIX parts. -E@%mlﬁlféﬂ iy
g e . =1l x=11 1

Resolve into panisl fractions: m TETICES] LWz ®

What is & proper fractlon?

Diefire ame-one funciion.

IfA="Hand B =W then find the value of A B
WY¥=2" and T=O" then find YUT

IFMl = {d, e, F, g}, then find two

Find range of: 11500, 12400, 1.

Wrile three properties of arithmetic mean,

Tedntllah i)

- Al oo Gin)

ElfA-B RBaWwa AN Gy
LS YUT e 120" vz
binary relations im M x b | -E Pt MM M= (e g S (i)
L (i

15000, 14500, 14300 11500, 12400, 15000, 14500, 14800 folors o (uiii)

Aot @

Write short answers to any SIX parts. ﬁmﬁ_&mq@ﬂf -

IT v and v varies inversely and u
Comvert 15 1o radian.

Find r when ¢ - $gem and B=d5

Deefine an angle,

(%)

SaAland @
uullﬁé;rﬂyﬁ-gﬁhv=3ﬁul:ﬂﬂﬂﬁ*ﬂt valuh (i)

=8whenv =], find vwhenu= 13,

Edatat. 150 Gy
A 1 0=4S Ly tasem Gy

-FwAln
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Locate the angle ﬂ"m““ in xy-plane. T ﬂ%i L3 (i)

o ds0= % E=dom G B ¢ (vii)

mLA=60° i mAC=dem « mAB = Sem G oo mBC 2 AABC (viii)
Ina AABC , calculate mBC when mAR = Sem . mAC = dem and mLA = 60°

AT (7R RN X )i )
Write the formula for finding the angle subtended by the side of a n-sided polygon at center of circle.

=9 A st 8 L - feplainfe (S ppata
| Part - I1, Attempl any THREE ﬁutsl,mh, Each question carries 08 marks. Question No. 9 is compulsory.

Solve the equation by completing square: 4~ 35+l = i;'x :15 féﬁﬁmﬂrfffﬁhb‘ () -5

Find r when {=4cm E—" radian,

s X +y +Z - Ixyzsx + y + 2) (% + oy + 0'2)(x + 0’y +0z) et (L)

Findx if 8—x:11-x216-x:25-x E—,u:11=mzflﬁ—x515=ﬂﬁ%r?’ﬁétf L ) T

Resolve into partial fractions: X+ 2] x42x4l e e (L)
e R ®-2(x+3) Ko s

MZ=12,3,5711,13,17,19,23) o ¥Y={0,2,4)6,8,...,20} « X={1,3,5,7,.... WM (i) _7

-;;érﬁ*‘ﬁu YIN(XUZ)
IFX=1(1,3,5,,...,19),Y={0,2,4,6,8,...,20} and Z43, 3,5, 7, 11, 13, 17, 19, 23} then
find (XUYIN(XUZ)Y.

Find the standard deviation 'S' : 9,3,8,8,9,8,9,18 el g Ui (L)
o sinf+ cosf cos’ @ sinf+cos® _  cos’0 . () _g
L. = & & B e 1 . ol = LN 4 13
Verify the identity: tan’B—-1  sinB-cos0 tan’@-1  sinB-cosd g aatilatr (I

S SPE D 35 s Ul v nL S S (L)

Draw two common tangenis o two tﬂunhmg circles of radii 2.5cm and 3.3cm.

e brtfe o stir ,:f._,rﬁw‘._i;n..,:fumluﬁ&u:n;;whrmm_;wﬁ@{_fr -9

Prove that the mﬂasurg of central angFe of a minor arc of a circle, is double that of the angle subtended by
the comresponding major arc.

-~ OR - —k-
oy y bﬂljyd Uuﬂ;ﬁ.gfis@ﬁdgﬁﬂg ==k

Prove that two tangents drawn to a circle from a point outside it, are equal in length.
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